PROFESSIONAL EXAMINATION BOARD

Police Constable Recruitment Test - 2016
30th July 2016, 09:00 AM

Topic:- General and Logical Knowledge
1)

Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg fope T;{ﬁl'l'{
St 3T T Sy wd el  9v § 9 2

Statements: / ®Y:

Some balls are balloons / 99 e ﬂﬁﬁ‘%

No balloon is round / &3 J&RT Md a1 @
Conclusions: / e

I. Some balls are round / I. $9 WS M %

II. No ball is round / II. ®Is 3¢ Td Al &

® Only conclusion I follows / Fad ey 1 Headr %

® Only conclusion Il follows /W ﬁwcf Il ﬁﬁ?ﬂ %

® Both conclusion land Il follows/@Fﬁ' foeed 1 GﬁT II ﬁwﬁ %

® None of the conclusion | or Il follows / fpdrarraa a?rs‘ qﬁ IECNGI %
Correct Answer :=-None of the conclusion | or Il follows / ﬁ'@ﬁf 191 II | ﬁ Tﬁé T'|€T IECASGI %
2)
Question Stimulus :-

Which of the following awards is conferred for achievements in Hindustani classical music? / ﬁl’HWR} qE

D9 I e R, el It Tt o) Suafsy & fore faar srar 22
* Kabir Award / FIR REHR
® Tulsi Award / @i REDPTR
® Tansen Award / AT RGP
® Kishore Kumar Award / fH=IR $UR TP

Correct Answer :-Tansen Award / TG [REDBTR

()



3)
Question Stimulus :-

How many minutes are there in a 155 weeks? / 155 d&ile H fopaq e fﬂ% %.?
® 1562400
® 1564800
® 1468400
® 1884600

Correct Answer :-1562400

4)
Question Stimulus :-

Who is the first Indian woman gymnast to qualify for 2016 Olympics?/ 2016 e %PCI'E \'ﬂgﬁ"f TS B

arel Ugel YR Afgem e o4 82

® Arunima Sinha / 30T mT

® Geeta Phogat / aT wee

® Richa Mishra / f=m firsm

® Deepa Karmakar / a1 HRETHR
Correct Answer :-Deepa Karmakar /aTIT DHIHTDY
5)

Question Stimulus :-

Who is the shooter from Madhya Pradesh who won the bronze medal for India at the 2014 Asian Games? / H

TSRT BT 98 X PI 3, ORI 2014 & tREE @a § YRd & [T i ues sian
® Manisha Keer / H-ITGT BIX
® Harshita Tomar / gi¥aT GHAR
® Varsha Varman / 991 9H+
* Sita Sahu / HIdT ATE

Correct Answer :-Varsha Varman / 99T 9=

@)



6)
Question Stimulus :-

Who was the first vice president of India? / HIRd a?u'e'@rwrgcrﬁf B A?
® Dr. Rajendra Prasad / ST Toig UG
e sarvapalli Radhakrishnan / U RTYTP T
® Hamid Ansari / BTTHG AT
® R.Venkatraman / 3R, d®eqT
Correct Answer :-Sarvapalli Radhakrishnan / '\‘ﬁqc'_vﬁ?'fw
7)

Question Stimulus :-

If Monday means a cheerful day, and it’'s not Monday today, then it’s not a lousy day. /

gfe TR BT Adad T {9 €, 3R TS HiHaR el §, f I8 9ga @rid fed 81
e True / gl
* False / Toid
e Maybe / 8 H&dT 2
e Irrelevant / 3MRifTH

Correct Answer :-Maybe / 8 I%dl 8

8)
Question Stimulus :-

Six people P,Q,R,S, T, and U are sitting in a circular path who are facing the centre. R is
third from P in the right. Q is third from T in the left. U is between P and T and S is third
from U in the left. / P,Q,R,S,T, 3R U B8 dAfdd $x $t 3R TW {5 §T T ga & 1 93 &1 i
RERPIAFNRBZI TR RE QTANTIRIU,PIRTHATH T M S, Irff aR® U A 9T 21

Who are between S and U? /S 3R U & fig o4 §?
e Only T/%aa T
e PandR/P 3R R
e QandT/Q3RT
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®* None of these /S?ﬁ kil Hﬁi i
Correct Answer :-None of these /§TH § ®Is 8l
9)
Question Stimulus :-

‘Pupil’ is related to ‘class’ in the same way as ‘Bead’ is related to? / Ry Teafta wam 9 SH TR I % oo
IR Al Hafid § 39

® Necklace / B8R

® Ornament / TgHl

® Jewellery / SIdIgRTd

e Gold / IT
Correct Answer :-Necklace / IR
10)

Question Stimulus :-

Who was India’s first Finance Minister after Independence? / Sd=adT & 91¢ UIRd & Ugd fad Wt &= &2
e Sardar Patel / GXGR Ued
® RK Shanmukam Chetty / R® REAHPH 3\51@'
® Liaquat Ali Khan/ foraTed o€l @<

e John Mathai / ST9 'FRIT&;

Correct Answer :-RK Shanmukam Chetty / 3R% IFYHH g1

11)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg fawe ﬂﬁ?
<t T T Y=l Td et & ar o 9 7

Statements: / 9YH:
All singers are dancers / It T Tde 7
No dancer is guitarist / Hﬁg EGEE frerRaes qﬁ%
Conclusions: / frep:
®)



I. No singer is guitarist / 1I. ﬁ'&f Wﬁ?ﬂaﬁﬁ =ra?r%

II1. All dancers are singers / II. It Tde THe %

® Only conclusion | follows / Had foreed 1 Frodar %

® Only conclusion Il follows /ama forsm o) Froaar %

® Both conclusion land Il follows/?ﬂ:ﬁ ﬁfﬁb_ﬁf I Gﬁ? II ﬁﬁf’_c'l?f %

® None of the conclusion | or Il follows / foreepd 197 11 ® @ ?ﬁ% T'Iﬁ' IGEASGI %
Correct Answer :-Only conclusion | follows / Fad freepd I fAeadr %

12)
Question Stimulus :-

According to the Shiromani Gurdwara Prabandhak Committee, how many Sikh Gurus are there?/ RRY=fr

THERT Yae® Jfifa & ganR, foraq Rra 1= 8
* Two/ql
* Ten/GH
® Nine/ =t
* Twelve/ IRG

Correct Answer :=Ten/ ¢

13)
Question Stimulus :-

Dhuandhar Falls is seen on the River in Jabalpur. / HGITUR' STAUUTd STdelqy o ""Eﬁ '3 a@T
ST 21

e Son/HM

® Tapti/ aredt

® Khajaraho /w
® Narmada / T-I'FTET

Correct Answer :-Narmada / THal

14)

(6)



Question Stimulus :-

Who was elected the President of India in July 2012? /ﬂ?ﬂ'{g 2012 ¥ YR & UYFHA & U H fHa T
T 41?

® Pratibha Singh / UfaryT Rig

® Hamid Ansari / E’Iﬁl—c{ WI'\&

® P.A. Sangama / ‘ﬂ.l'-,'. T

® Pranab Mukherjee / HUTd HETrﬁ

Correct Answer :-Pranab Mukherjee / WOTd gasit

15)
Question Stimulus :-

What is common in Matiyari, Rani Avantibai Sagar, Barna and Tawa / ﬁ?-l'l'\ﬁ', AT Gﬁﬁﬂ'l_sc UNR, a1, dd1
# 1 9 9T §

e All are tributaries of Narmada / G4} qﬁﬂT @I Wﬂa %

® All are waterfalls / Y STayqurd %

® All are Irrigation dams in the Narmada / Tt T'l'l:rIET | ﬁﬁl’l’&F Y %
® All are multipurpose dams / Tt aga%%&ﬁ"q iy %

Correct Answer :-All are Irrigation dams in the Narmada / goft far & ﬁﬁl’l’g €Y %

16)
Question Stimulus :-

In the following question, there is certain relationship between the first two terms. Choose the fourth term from the
following options which has a similar kind of relation with the third term. / g uy ﬁ, 'CIBT}T T uel & = fopedt
THR I B3 wad 3] U fawe & J @ryr ug gR et TR 1e & a1y S vorR @1 9y g

Factory : Production :: School : ? / ﬁmﬁ : 3dig :: foemeg & 2
® Teachers / HHATUD
® Students / S
® Building / SHIRd
® Education / ﬁT&IT



Correct Answer :-Education / 18I

17)
Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / dg fawea ﬂﬁl’({,\_rﬁ qTb B i
d T W FF S g

Some doctors are not women. /WS"\I'W II'%?ITE{ q'f?f%l
¢ All doctors are women. / 9} STae? Afgamy &
¢ No doctors are women. /ﬁéﬁﬂﬂ‘%ﬁﬂﬁ%l
e Some doctors are women. /WS’I’HE’IW%EITQ%'I
e Some women are not doctors. /WH‘%FTI‘EE’I’WH?[%I

Correct Answer :-Some women are not doctors. / $S AfgAT? Siaex gl 8

18)
Question Stimulus :-

In the following question, four words are given, out of which three are same in certain
way and the remaining one is different. Find out the different one. / IBERE] ﬁ', IR 915 fed
T, o @ f= foelt yor 3 999 € SR 919t U e §| ST T {Td BIH |

e Chameleon / fiRfire

e Lizard / fsuwmen

e Snake / 9T

* Fox / m
Correct Answer :-Fox / @lHs!
19)

Question Stimulus :-

The produces newsprint for the country. / %ﬂ%ﬁﬂ'{ SRGTTR] BT BT SATGH Bl %I
® Nepa Mills/el'qTﬁlaT
® West Coast Paper Mills /a'&'aﬁwﬁq?ﬁw
® Bhind Mills / fHUS fired

(8)



® Rewa Mills /ﬂﬂTﬁlT"H

Correct Answer :-Nepa Mills / 59T forest

20)
Question Stimulus :-

Which of the following districts does NOT belong to Jabalpur division? / faferfaa foral & 9 <t a1 e
TEAQR U HT -TE 82

e Katni / Hal
® Seoni / Ryt
® Mandla / HSdl
® Harda / B3ql

Correct Answer :-Harda / 83ql

21)

Question Stimulus :-

Who abolished slavery in British India? / foIfe=1 e ® et o= 35 @i
e Lord Metcalfe / @S HedhTeh
 Lord Ellenborough / E’%Eﬁﬂ@ﬁ'ﬁ'
« Lord Cornwallis / 9is Pi-qlerd
« Warren Hastings / a+ sf&™
Correct Answer :-Lord Ellenborough / drs Eﬁﬂ@ﬂ%’

22)

Question Stimulus :-

Who among the following became the Prime Minister of India without being earlier the Chief Minister of a State?

 Forg & @ @4, uga fodt Isa & gt a9 fomr € e & g a9 A2
® Charan Singh/?R'UTﬁ;i?
e V.P.Singh/dl. 4t f¥ig

® Chandra Shekhar / W

©)



® P.V.Narasimha Rao /Ul I, T-R'RI'IET 1d
Correct Answer :-Chandra Shekhar / GERIER
23)

Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / dg faweg g&fﬁ"ﬁﬁ' TP B i
TRt HSF FIaE e :

It is not true that both Saturday and Sunday are holidays / 98 9 7Tg| & {& g9l Wf~arR 3R
faar gfgai 31

e Saturday is a holiday or Sunday is a holiday / <R %! g3l € 91 AfAIR ® T &
Saturday is not a holiday and Sunday is a holiday Yf~aR ® @&l 781 & ik IfdaR &1 ggh
e

Saturday is a holiday and Sunday is not a holiday / Xf-dR & g3l 8 3R IAaR *t ggt
T 8
Saturday is a holiday and Sunday is a holiday / If~aR ®) @&l § iR AR w1 gl &

Correct Answer :-Saturday is a holiday or Sunday is a holiday /wﬁaﬂﬁ@%m?ﬁaﬂ

PIgE R

24)

Question Stimulus :-

If the figure on left is folded to form a cube, then which of the following options is the face opposite to the face shown

at the right? / fe It 3R W ATHTT Bt 9 B AT T & o€ Bics fparwmar g, A Fa e o 9
D A fawer ° was il o feer T vaw & fawdia &2

PR v

ey
AR A
Annay

NSRNRY]
W]

(10)



\

Correct Answer :-—

25)
Question Stimulus :-

A blacksmith has five iron articles A,B,C,D and E each having a different weight. / T® &R
% U A,B,C,D 3R E U 8% TS 3T HRATe! i 1 gl &l

1. A weighs twice as much as B. /1. A PTHUR B ﬁﬁﬂ*ﬂ%l

2. B weighs 4 and a half times as much as C. /2. B FTURC I 4 Gﬁ'\faﬂ‘iﬂiﬂ?%l
3. C weighs half as much as D / 3. D § C &1 YR 3¢ &1

4. D weighs half as much as E. / 4. E A D BT UR GH%IT%I

5. E weighs less than A but more than C. /5. E ®THR A A PH W CﬁGqTaT%I

Which of the following articles is the heaviest in weight? / ICE 3B A a¥g hT UR 59
el 82

e A

e B

e C

e D
Correct Answer :-A
26)

Question Stimulus :-

In the following question arrange the given words in a meaningful sequence and then
choose the most appropriate sequence from among the alternatives provided below: /

fFafrfad uy & e arde w0 & vl 3 gawT B3 iR 39 916 A9 iy v RAee 3 @ 99w suge
SHY BT T B3

1. Andrapradesh 2. Universe 3. Tirupati 4. World 5. India
(11)



1. gy 2.9gmvs 3. fovufd 4.fdy 5. 4Ra
e 1,53,2,4
e 2,1,3,54
e 3,1,5,4,2
e 54,2,1,3

Correct Answer :-3,1,5,4,2

27)

Question Stimulus :-

The Prime Minister of India is the / YT & HLUTTHA & :
® Head of the State / XTSI & g9
® Head of the Government / dX®PIY %m

® Head of both State and Government / gI<il Y154 3% IXHR & g9

® None of these /sﬂﬁ@raﬂ‘éﬂﬁ

Correct Answer :-Head of the Government / SXPR & TIH

28)
Question Stimulus :-

1. In a family of six persons, there are people from three generations. Each person has
separate profession and also they like different colours. There are two couples in the

family. / 1. T: 9N & TP URAR & @1, T FeA & T1 83 T T UG 3T ¢ 3R S8 ST 3 UG ¢ |
981 uRaR # 3§t gira ¢

2. Rohan is a CA and his wife neither is a doctor nor likes green colour. / 2. J89 T
AWHR B 3R ITD] Ul 7 STee? & 7 I 80 37 WG B

3. Engineer likes red colour and his wife is a teacher. / 3. 3fHUdT & T1F T UHG § 3R ITP! Tl
Rrerw 21

4. Mohini is mother-in-law of Sunitha and she likes orange colour. /4. Aifgt gar #1 w9 8
3R I AR 7 yHE Bl

5. Vinod is grandfather of Tanamy and Tanmay, who is a principal, likes black colour. / 5.

faie a9y & <l € SR a9y St YU €, P $Tal T UHe gl

6. Nanu, granddaughter of Mohini and she likes blue colour. / 6. Alfg<l} &1 AT A1, § 3R 3T
e &1 wE B

(12)



7. Nanu’s mother likes white colour. / 7. 7-!171'\39[ Hf &1 ﬂ'ﬂTd I UG %I

How many ladies are there in the family? / IRaR # fHal e iRkd &2

e Two / E’f

* Three /

* Four /dR

e Can't be determined / fadffya T-Iﬁ%tﬂ ST Hhdl
Correct Answer :-Three / 49
29)

Question Stimulus :-

If st the mother of Q and P is the niece of Q, we may say that Q is the ....... of P./ dCR, Q
F1 AT 8 T P, Q I Uish/ Yol B, 39 $¢ IFd § & Q, P F! ....... 2l

® Uncleoraunt / i g1 /THET
® Nephew or niece / HIGIT IT Hisil
® Father or mother / foar ar |1

® Son or daughter / a1 a1 9t

Correct Answer :-Uncle or aunt / HIIT T HTHT

30)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg fawey qﬁrt{
i BT U YT vd el & ar § 9 R

Statements: / ®YH:

All boys are singers / 9¥W 8% TH® &

Some boys are not artists / $O TSP FATPR Tl &
Conclusions: / fead:

I. Some singers are not artists / I. P9 TU® HAPR Tﬁﬂ%

II1. All artists are singers / II. I FATPR TS %

(13)



® Only conclusion | follows / Fad et 1 FHeaar %

® Only conclusion Il foIIows/aﬁFf feree 1 frear %

® Both conclusion land Il follows/ﬁ ﬁl’Wﬁf I Gﬁ? II fead %

® None of the conclusion | or Il follows / FpdrarIIda Hﬁ's: T-I'ﬁ?f Freaar %
Correct Answer :-Only conclusion | follows / Faa freed I Aeadr %
31)

Question Stimulus :-

What is the term of office of the Vice-President of India? / HIRd » W—ﬂgﬂﬁ % PRIGTA B Gy w1 %?
® 6years / 6 CL]
® 4years / 4 af
® Syears / 5 a¥
® 7years / 7 L
Correct Answer :-5 years / 5 a4
32)

Question Stimulus :-

A farmer grows 4 crops— A, B, C and D, not necessarily every crop in every year. A is grown between the months Jan-
May, B between April — July, C between June —October and D between September-January. Each crop takes 3 months

from sowing to harvesting. At a time only crop can be grown./WWﬂWWﬁm%- A, B, C Gﬁ? D,'a
TR=S1 el D1 8RB O X HIS ST A SFas] -HS & fHa & STTS oirel} 8, B 30 - J[ars H, ¢ 97 -3fFgar
aﬁwi;mm-maﬁﬁl TP B gars A Hers s A 3 7 Adl 8 1 TP IR | R v waa S o
bl gl

If A is sown in February, when will A be sown next? / UI%A IR A E-TQT\_SIT?IT%, Td A SFTRI 9R B ST SATA?
® January next yearlmwm A
® February next year / 3T AT a3t A
® March next year / 3T T AT o
® April next year / 3T AT 30 A

Correct Answer :-February next year / 3ATS T BRas| |

33)
(14)



Question Stimulus :-

The birthday of which of the leader in India is observed as ‘Good Governance Day’? / HIRd & Jar o1 \_rﬁ:l'%:l
R e & U o W11 ST 82

® Mahatma Gandhi /W?HTTIT'Eﬁ
® Sardar Vallabh Bhai Patel / ¥R GIX detiH 1n€t|%?r
® Pandit Jawaharlal Nehru /q%ﬁwmﬁma
® Atal Vihari Vajpayee / mﬁl’g@ GIEL L
Correct Answer :-Pandit Jawaharlal Nehru /q%ﬂmmﬁ'&:??

34)
Question Stimulus :-

How many times ‘I’ exceeds ‘N’ in the word ‘INSIGNIFICANT'? / ‘INSIGNIFICANT' Reg
T fpam AN ot @2

Correct Answer :-1

35)
Question Stimulus :-

The earliest school of medicine known to mankind is / A4 Wifd $1 G99 ARMUF

g ¢ __I
e Unani / QAT
® Ayurveda / 3TgdqG
* Homeopathy / SrRITU
* Siddha / RIGT

Correct Answer :-Ayurveda / 314G

36)
(15)



Question Stimulus :-

Who were the first Europeans to come to India?/ HIRd 3ME ared q@ﬁ W’q AR B A2

® Portuguese/ H?h'l'lﬁ)f

* English/ 3%

e Dutch / 9 fFarh

® French/ i ardt
Correct Answer :-Portuguese/m
37)

Question Stimulus :-

Srikanth is shorter than Nila. Pratima is taller than Srikanth. Subash is taller than Nila
but shorter than Harish. Nila is taller than Pratima. Who will be in the middle if they

stand in a row according to height? / ft@ia =ar & Arer g1 ufowr fieia § ddt 81 guy e S
ﬁgﬁ?waﬂmﬁwélﬁmmﬁﬁél IR A FHATS & SUR TH Ui # @ & at i & »iv
 Pratima /UfHT
 Harish /g9
e Srikanth / fi&id
* Nila /=tem
Correct Answer :-Nila /iaT
38)
Question Stimulus :-

In India, whose official residence is Panchavati? / HIRd | fpaeT TIRHRY AT ugadt %’?
® President / ?quﬁf
® Prime Minister / YU

® Vice President / @ﬂgﬂﬁ
® Indian cricket captain / YR fopde s

Correct Answer :-Prime Minister / WUTTHAL

(16)



39)
Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / dg fawea '@ﬁ";’,\—ﬁ TP Bl i
GEIERTRICRI ke ak i &

It is not true that both bat and ball are needed for a cricket. /quﬁ%%w*ﬁlﬁ
ST Te SR Tig Bl wIevd usdl 8l

e Bat is needed for a cricket and ball is not needed for a cricket. / fohhc & R It DI
S € 3R fopdpe & o 7ig ot S g1

e Bat is not needed for a cricket and ball is needed for a cricket. / fpdhe & ol goar &t
SRd 81 g ofi foppe & ford g &Y ovevd g

e Bat is not needed and ball is not needed for a cricket. / g P! &=3d el 3R fobdbe &
ford e &1 oieevd =8 §1

e Bat is needed for cricket or ball is needed for cricket. /W%ﬁﬁaﬁﬁmﬂa%m
frpcp A NP TRad g |

Correct Answer :-Bat is needed for cricket or ball is needed for cricket. / fohdhe & ol
I P oed ¢ a7 fpde & R Ae S o ¢ |

40)

Question Stimulus :-

Krishonnati Yojana, implemented by Department of Agriculture, Government of India, refers to NFSM as- /

PRI T, Y TAE U gRT FRAff<d, YR IRPR, TITHTATH $I Heiid HdT 8-
® National Food Safety Mission / ?TQT[ Mrel gREm T
® National Food Security Mission / ?T@'q @rer vt T
® National Farmers Security Mission / ?T@'q feam= & Fr
® National Farmers Service Mission / TI'@T[ T dar fra

Correct Answer :-National Food Security Mission / ?T@'q @ e T

Topic:- Mental Ability and Mental Aptitude
1)

Question Stimulus :-

A train covers a distance of 880 km at a constant speed. If its speed would be
15 km / hr less, then it would have taken 6 hours move to cover the same
distance what is the original speed of the train?/ T® 2=r THIHTT T T Teld g¢ 880

(17)



5t ot gt au HRal 71 i @I A 15 Bt/ ver A °e WY, af SuB! S gl Bl a9
¥ T 6 Ge M o1 WA ¢4 $ aafa® a1 82

* 40 km/ 40 foreit

* 50 km/ 50 foreit

* 55km/ 55 faeit

* 60 km/ 60 fareit
Correct Answer :-55 km/ 55 ftit
2)

Question Stimulus :-

4| L

A car traveling = of its actual speed covers 42 kms in 1 hr. 40 min. 48 sec. Find the actual

1] Ln

speed of the car?/ T® R U1 ' dr«fa® T4 & 1 ¥. 40 fiFe. 48 GFvs & 42 fF it Hi g 7@
Pl &1 PR P IS T T B2

e 25km / hr /25 fopdt/der
e 30 km/ hr /30 fopei/ger
* 35km/hr /35 fopdit/der
® 45km /hr / 45 TopHt/AeT

Correct Answer :-35 km/hr / 35 fpHY/ger

3)
Question Stimulus :-

In a certain code language, only common ground means mono tono gono, all
common people means tono pla cole, give them all means cea pla tabool. Which
is the word for cole in that code language? / fodt @ g Pis v ff, only common
ground &1 Hddd ¥ mono tono gono, all common people &1 Hddd ® tono pla cole,
give them all &1 Hddd € cea pla tabool | I HIS HIUT H cole F o€ =T g B2

® ground
® only
® people

(18)



® them
Correct Answer :-people
4)
Question Stimulus :-

In a certain code language, Eat fresh apple means keat teek kata, Eat the food
means meek peek teek, Fresh lime juice means kata seda tob. Which is the
word for keat in that code language? / f&dl @ <T PIS HTUT ff, Eat fresh apple &1
Hdad € keat teek kata, Eat the food &1 Hddd 8 meek peek teek, Fresh lime juice
P1 HAdAd § kata seda tob | SHI IS U H keat & fIT T Tt 82

® apple

® lime

® juice

® food
Correct Answer :-apple
5)

Question Stimulus :-

If x% of y is 100 and y% of z is 150, then find a relation between x and z?/ gfe Y PT X% % 100 3 z &7 Y% % 150,

ol x 3R z & dI Ha=I JId B2

® 2z=3x

® z=3x
Correct Answer :-2z=3x
6)
Question Stimulus :-

Complete the series choosing the missing letter/s: / ﬁﬁq &Y AP ST P T W : abca _bcaab _ca_
bbc _

® ccaa

(19)



® bbaa

® abac

® abba
Correct Answer :-abac
7)
Question Stimulus :-

The series given below contains a s'equence'of'al_phab.ets and numbers. Identify the
incorrect combination: / - &t T @@ 3HeRT TH IBATSM BT SIHT WA Bl g| Tad Jare-
LRELE DT

(i) FjiwOulud
(ii))FjiwOulud
(iii) FjivvOulud

(iv) FjiwOulud

Correct Answer :-iii

8)
Question Stimulus :-

A box contains 5 white, 3 black and 4 green balls. Two balls are drawn at random. What is the probability that all of them are
white? / TP 96 T 3 BTeH 3R 5 AHG 716 &, 4 T ¢ 6; 2 76 DI AR TRIP A T SI1ar § | T HUEAT §
ot frast |thg Tiq et sma?

® 5/66
® 5/33
® 5/22
e 5/11
Correct Answer :-5/33

(20)



9)
Question Stimulus :-

Complete the series choosing the missing number: / AW IWAT FAHR SGaT B TR BT :

21,25,33,49,
e 81
e 80
e 72
e 75
Correct Answer :-81
10)
Question Stimulus :-

What is the sub duplicate ratio of (m = n)2: (m + n)2? / (m - n)2: (m + n)2 &1 Y-
T 8?

* m+n:m

* n:m+n

* m+n: m-n

®* m-n: m+n
Correct Answer :-m-n: m+n
11)
Question Stimulus :-

3

If a tailor uses + m of cloth to make a skirt, how much cloth does he need for
3

7 Skirts? / afe TH golf + W HUST W T F AT TART T R, 99 I 7 Whe TN F
fore fpaa pue &1 smazyedr ghfi?

i
064

(21)



] |

|

1

1
Correct Answer :-5
12)

Question Stimulus :-

If MASTER is coded as LZRSDQ, then TELEPHONE is coded as / Tf¢ MASTER @1 LzZRSDQ ¥ Hifed fdr &aT ©, o
TELEPHONE &1 BF HIfSa foar s

e SDKDOGNMD
e SDOHPELET
® SDKDENOPH

e PHONETELE

Correct Answer :-SDKDOGNMD

13)

Question Stimulus :-

A family uses sugar amounting to 22.5kg. By what percent should the family reduce the consumption in order to keep the
expenses as same as before, if the prices are increased by 30%?/ Udh Tiar od 22.5{HUT AFHI BT YTANT ST %l
ofe BId B 30% T faar oY, < Tal &1 Ugd & JHH gl §91¢ Wad §¢ URaR & @ud fHaq ufa=e

g™ d1igu?
e 27
e 22
e 26
e 23

Correct Answer :-23

(22)



14)
Question Stimulus :-

The square of 98 is / 98 &1 Tt %
* 9601
* 9604
e 9000
* 9603
Correct Answer :-9604
15)

Question Stimulus :-

In a certain code language, Ili eb eep means roses are blue, kis eeh means red
flowers, eep tim eeh means flowers are vegetables. Which is the word for roses
in that code language? / ol @ wis ‘l-lTﬁlT% li eb eep T Hddld § roses are blue,
kis eeh &1 Hddd % red flowers, eep tim eeh &1 Hddd % flowers are vegetables |

ﬂm‘l{mﬁmses%ﬁmwwa’?

® c¢ep

L/

® ¢eb

® cannot be determined / ﬁfﬂfﬁﬂ T'Iﬁ' ﬁ?_QT ST Hhdl
Correct Answer :-cannot be determined / TIUTRT -TEY foram i Aar
16)

Question Stimulus :-

In the sequence shown below, which figure comes next? / <9 fR@R T H9 # 3FT! e fa
$i4 Ot grft?

*ee a8 *CH Sla)
e*0® QOO Qo0 CaoO
e e *08 *Ce ®00

(23)



slele]
CQOQ
000

Oe®
800
oL 1

L 3 2%
Q08
*90

o0
wlele)
wlels

Correct Answer :-

17)
Question Stimulus :-

How many different six letter words can be formed using the letters of the word ‘LEADER’ if repetition is not allowed? / 'Clﬁ'

TRIgfa IR ) 8, 99 ‘LEADER’ RTe8 & 31&RT BT WANT HP T8 3R & fra RAIfiT 3 9 I&d &2
e 720
e 480
e 660
e 360
Correct Answer :-360

18)
Question Stimulus :-

Venu bought a plot for Rs. 20,000 & was forced to sell it at Rs. 18,000. What is his loss percentage? / %u;
7 20,000 FUY HT TH YES TSI 3R 3 18,000 T4 H 38 Sv+ & e woigR fvan a1 39 JHa &1
gfa=Td |1 8?2

(24)



* 1%
* 12%
* 9%
* 10%
Correct Answer :-10%

19)

Question Stimulus :-

A bag contains 4 white and 6 black balls. Three balls are drawn at random. What is the probability that they are black

%r;/ggma%ﬁ?mﬁ?%3ﬂ?aﬁaﬁuﬁaaﬂ%ﬁﬁmmw%1wﬁum%aﬁ
. 176
. 13
e 1/2
e 5/6
Correct Answer :-1/6
20)

Question Stimulus :-

Jacob purchased a flat for Rs. 470000.He had to sell it for Rs. 453000.Find his profit or loss percent. /
S d A UP TRiC 470000 TUT § WRIET, 3T 98! Tic 458000 T=UT & 99 UST| IHHT 1Y T T+ ufer=id
T B3|
26
« 247 0p

26
e 347 0p

26
o 477 0

® None oftheselﬁﬁﬁﬁﬂﬁgﬂﬁl

(25)



28
Correct Answer :-2 47 o4

21)
Question Stimulus :-

In the following qpestipn, one term in the number series is wrong. Find out the wrong
term. / 99 vy ¥, I@11 4o # TP U< Ted §] TAd UG WA BIoA|

20,19,17,13,10,5
e 10
e 5
e 13
e 19
Correct Answer :-13

22)
Question Stimulus :-
Complete the series choosing the missing number: / AW T@IT TAH YT BT T BIOT :

34,18,10,6,4,
e 0
e 1
o 2
e 3
Correct Answer :-3

23)
Question Stimulus :-

Which one of the following four addresses is NOT EXACTLY the same as the one given

below? / g 33 7 o i § & 9 A W 0 & e 99= S 91 v T8 27

Adventure Schools

(26)



E-Mail: adventure@worldkayak.com

315 7th Street, S.E.
Washington, DC 20003
(202) 546-9211

(800) 51-KAYAK

Fax: (202) 546-3106

(i) Adventure Schools

E-Mail: adventure@worldkayak.com
315 7th Street, S.E.

Washington, DC 20003

(202) 546-9211

(800) 51-KAYAK

Fax: (202) 546-3106

(ii) Adventure Schools

E-Mail: adventure@worldkayak.com

315 7th street, S.E.
Washington, DC 20003
(202) 546-9211

(800) 51-KAYAK

Fax: (202) 546-3106

(iii) Adventure Schools

E-Mail: adventure@wordkayak.com
315 7P Street, S.E.

Washington, DC 2003

(202) 546-9211

(800) 51-KAYAK

(27)



Fax: (202) 546-3106

(iv) Adventure Schools

E-Mail: adventure@worldkayak.com

315 7th Street, S.E.
Washington, DC 20003
(202) 546-9211
(800) 51-KAYAK
Fax: (202) 546-3106
° i
e i
o iii

o |V
Correct Answer :-iii
24)

Question Stimulus :-

What is the minimum number of straight lines required to make the following figure? / ﬁl’H G-I'ﬁ?ﬁf & 91 & o
<IAaH G= A feast At yarsii $t snaxgean g

(28)



e 9
Correct Answer :-6
25)

Question Stimulus :-

The average of 11 numbers is 50. If the average of first 6 numbers is 49 and
that of last 6 is 52.Find the 6t" number? / 11 T&3{} %7 3d 50 § | Il Ug<h 6
T3l 3T 3N9d 49 g 3R Sifaw 6 =3 &1 3N9d 52 g, df 6th I om 82

e 56
e 57
e 58
e 55
Correct Answer :-56

26)
Question Stimulus :-

If the code for POLYGON is YLOPNOG then what will be the code for RECTANGLE? / dfd PoLYGON & ford ®IE yLoPNOG

8, O RECTANGLE & oI T Pl gRIm?
e ERELGNATC
® |GNAERCTE
® TCERELGNA
® None of the above

Correct Answer :-TCERELGNA

27)

Question Stimulus :-

A and B can do a piece of work in 20 days and 12 days respectively. B started the work alone and then after 4
days, A joined him till the completion of the work. How long did the work last? / A 3R B Th HhIH I HH:
20 & 3R 12 & & RT HR Tda &1 B A BTH B 3rba IR a1 3R 6 4 3 & a1, A 19 waw
B TP IUP 1Y WS gt 711 HTH fha TH7T d& Tar?

° 5days/5ﬁ;f

(29)



e 10days / 10 fes1

® 4days / 4 feq

® 8days / 8 feq
Correct Answer :-5days / 5 fe
28)

Question Stimulus :-

(180/10)x5-(9x8/3)-(5/2)x8=?
e 34
e 46
e 52
e 23
Correct Answer :-46
29)

Question Stimulus :-

A382 +679B =12C76

Where A,B and C are representing numerals; find the value of C. / A382 + 679B = 12C76 GIFT AB Gﬁ'\" C
faftra Tw=rie §; 99 ¢ @1 °aF AT

* 6

* 9
Correct Answer :-1
30)

Question Stimulus :-

Complete the series choosing the missing letter/s: / ﬁfjl?f &R AP SRael B T ﬁﬁrq ! ccbb _aa _cc_

baaaa_c

(30)



® aabc
® baca
® baba

® acba

Correct Answer :-aabc

Topic:- Science and Simple Arithmetic
1)

Question Stimulus :-

Which acid is called as the “King of Chemicals”? / ?ﬁ? a1 3+ ’WITFﬁ DI TSI e dldl %?
® Nitric acid / 313'@75 SR
® Sulphuric acid / ﬂ?‘?{hﬁ T
® Hydrochloric acid / E’Iﬁ@iﬁﬁﬁﬂ? STRT
® Phosphoric acid / W‘mﬁﬁ T
Correct Answer :-Sulphuric acid /m 3
2)
Question Stimulus :-

Name the blood vessels through which blood is circulated in human? / 39 Ydd ?ﬂﬁ?ﬁ DI ATH ddIg¥ SRETD GI1
AT § Y94 ui=nfed gidr 8

® Auricle / dT&l &t

° Ventricle/ﬁlﬁ'q

® Arteries and veins / 4Tt 3R FRRT

® Xylem and phloem / SIS ¢H 3R 'Ch'WI?
Correct Answer :-Arteries and veins / 4+ 3R FRRT
3)
Question Stimulus :-

If0 =0 = 909, the maximum value 5sin6 can take is /aco =g = 90°, di
5sine T 3AReaH A= ferar s g g

(31)




Correct Answer :-5
4)
Question Stimulus :-
A Frog can breath through / U Hed SH® GIRT AT o Hebdl &
® SKkin / oddl
* Lungs /g
® Mouth /ﬂ%
® All the above three / SWRIad It diF
Correct Answer :-All the above three / SWRIad I @+
5)
Question Stimulus :-

Name the factor which helps in clotting of blood / 3 BIRX® BT ATH ddIgC¥ STl I BT YFHT g9 A gerddl
Pl 8

* Platelets / fa@TY]

® Plasma/ Stagad

e WBC/ Sergatal

* RBC/IRTHI
Correct Answer :-Platelets / faaT0]
6)

Question Stimulus :-

To make a battery of two cells / 7:.:\' IS arell S T P ﬁq :

® Positive terminal of one cell is connected to the positive terminal of another cell / TP JAd & YATHS R

(32)



DI G AT F YITHAS R I ST A1t 3

® Negative terminal of one cell is connected to the negative terminal of another cell / Th AT & BUTHSD

R @ TR 99 & Honds R 9 wiveT 9rar g

® Positive terminal of one cell is connected to the negative terminal of another cell / Th A & YATHD Y

DI g TG & BUTHS (¥ A SArsT Aram @
® (Cells can be connected any way one wants / I B ﬁwaw?r%amw mmﬁaﬁmmm%

Correct Answer :-Positive terminal of one cell is connected to the negative terminal of another cell / Th

A & TS R B R A & BUMTAS RR A ST orar 3

7)
Question Stimulus :-

A white powder ( A ) used while baking cakes, when mixed with a liquid (B ), used as a preservative of food,
reacts vigorously with “ hissing “ sound to liberate (C ), a colourless gas. The gas (C) when passed through lime

water turns it milky. Identify A, B and C. / T e ﬂ'\Uf( A) Pl BP P B 'ca?l:f, old d (B) & g1y
framar wirar @ o 76 ' ulRers & U o wad g €, @1 98 digar I Sifufhar wvar 8 aur Rae &t
SATATH & AT [E T (C ) ST it B1 I8 T (C ) 9 g7 & U+t § warfea gidlt 3 ot a8 gltmm &
ST 81 A ,B 3R ¢ & Tga Fifm|

® A=Maida / Hgl B= Water / STd , C=Carbon dioxide / BTa - STZATFIATZS

® A=Sugar / R[FHY , B= Vinegar / Ri®1/ ,C= Carbon dioxide | BT ETEGJVTWEE

® A=Baking soda / W@ BT ST , B=Vinegar / T , C=Carbon dioxide / CACE] S'IE'GI'IVH'\‘IEE

e A=Sugar / GBI, B= Egg white / TG 3ST, C=Carbon dioxide / PTa STFATFATSS

Correct Answer :-A=Baking soda / @M $T 9rsT, B=Vinegar /fRIR®T, C=Carbon dioxide / Pra-
SIS S

8)
Question Stimulus :-

q

ks —x-2=0
Find the value of k, if x = 2/3 is a solution of the equation / kmﬂﬂﬁ'ﬂﬁlﬁ,
kx®—x-2=0
Ife x = 2/3 FHIBI HITP EA &
e 3
® 6
* 6

(33)



° 2
Correct Answer :-6
9)

Question Stimulus :-

An ornament weighs 12.5 gms of which 2.5 gms is pure silver and the rest alloy. The ratio of pure silver and alloy is: /

12.5 I & TH MY H 2.5 UTH Y Tidt Ta A9 iy arg 81 s =it v fry urg o1 srqurd &

Correct Answer :-1:4

10)
Question Stimulus :-

Find the area of a sector of a circle with radius 6 cm, if the angle of the sector is 60°. /w qd & AR BT &%IW

TTd P el B 6 94 & 3T Aae 31 1T 60° 1
* 66/7 cm2/ 66/7 JHI2
* 132/5cm?/132/5 AW 2
o 132/7 cm?/132/7 A 2
o 22/21 cm?/22/21 ¥ 2
Correct Answer :-132/7 cm?/ 132/7 & 2

11)
Question Stimulus :-

A point P is 26 cm away from the centre O of a circle and the length PT of the tangent
drawn from P to the circle is 10 cm. Find the radius of the circle. / T® qd et %a 0] % G
I F% T 26 ). I gt R g P R 7 9T P A T =l a1 PT et e 10 9. 3 g9 W R
ST @ Y g4 @1 s 3 Sir|

e 18cm / 18 9HI.

(34)



e 20cm/209Hl.
e 22cm/22 9.
® 24cm/249HL.

Correct Answer :-24 cm / 24 9H1.

12)
Question Stimulus :-

Mushrooms, moulds and yeast are examples of / ®AD, th“?c& Gﬁ?' THR ﬁ'ﬂ' DT 3gievul %
® Parasites / RS
® |nsectivore / ?ﬁ?ﬂﬂ
® Autotrophs / urd
® Saprophytes / H’cﬁﬂﬁ
Correct Answer :-Saprophytes/ﬁ_clTrﬂ"ff

13)

Question Stimulus :-

Ram has a rectangular plot of land of length 70 m and width 40 m. If the cost for fencing is Rs.2 for each metre,

how much should he spend to fence his land? /ITH F U 70 Hiex WI'&F 3R 40 HieR iﬁ@'lg G| ‘ljﬁf Ca)
ATIATPR cHaT gl afe 18 I $ HHd * 2 ufd Hiex 3, 99 vt Yt W 918 1 & fore 39
fora @ o arfee?

® Rs.5600/-

® Rs.440/-

® Rs.110/-

® Rs.220/-
Correct Answer :-Rs.440/-
14)
Question Stimulus :-

The maximum displacement of a body from its mean position is called / TP e ot A1 awT A ITST
Sif¥rran e weardr @ :

(35)



e Amplitude / 3ITATH
® Frequency / \?vl'ﬁﬁf
® Time period / JHY 3rafd
® QOscillation / Eﬁﬁ’f

Correct Answer :-Amplitude / 3TATH

15)

Question Stimulus :-

Directions for the following five questions: Study the graph below and answer the
questions. (Consider approximate values for answers) / 1 3¢ T IR uyf & forw Adw =9 R
T ITH BT AT B MR T4l BT IW &1 (ST & e srganfa gt R faR +3)

Percentage Of villages in the States with proper
water supply

40

33
a0

20
15

Percentage

NP L P T
ONCINCONOMONOD

States

Taking states ‘P’ and ‘R’ together, what % of villages are supplied with water? / IT P’ 3R RPI ATY o & al ol

3Myfd arer el 1 ufer=ra o 82
* 45% /45 Ufa=rd
e 43% /48 Ufa=ra
* 49.5% / 49.5 f=Ta
® Data insufficient / TTAT SeT

Correct Answer :-Data insufficient / 3TTTTGT SeT

16)

Question Stimulus :-

The device used to protect buildings from lightning is / d& g%r I Tt Yael &I ?r%a J = o @Tﬂ %

(36)



Barometer/EITgEI—GN:ITdT
Earthing / “Nq?frff

® |ightning conductor / T‘I'%_c[ EIGED

Seismometer / WTtﬂ

Correct Answer :-Lightning conductor /?I'E‘}_c[ EIGEY

17)
Question Stimulus :-

Identify the metal which does not produce a metallic sound when struck ? / 3 ¥Tq @I U Tﬁm R w
ARA ¥ a1 Urfa® @i~ I T8 F=dl 82

* Sodium / AIfETH

* Aluminium / TegRIfaq

® Copper / didl

* Gold /T
Correct Answer :-Sodium / JHSaH
18)

Question Stimulus :-

The time measuring devices used in sports can measure up to / Tad Ugdd 33[9[ Il FHIHTY SUDHIUT {19
IHa1 g

® One millionth of a second / TP Jbhe BT od AarEdr
® One hundredth of a second / Th TAPs BT Aral

® QOne billionth of a second / TPH AP BT Th 3R9al
® One second / Th qPs

Correct Answer :-One hundredth of a second / Th Jdbe &1 giar

19)
Question Stimulus :-

Manju purchased 120 reams of paper at Rs. 80 per ream. He spent Rs. 280 on
transportation, paid octroi at the rate of 40 paise per ream and paid Rs. 72 to the coolie. If

(37)



he wants to have a gain of 8% what must be the selling price per ream? / Hy 80 ¥UY PIGRES
F W I 120 9 SRS TeaT g1 98 280 FUT URTET W, 40 U9 Ul A 1 = ¥ g7l W, wd 72 IuT
Foil W T a1 81 A a8 8% T YATHT HHMT A1ear 3, Ufa R & forw fasa gea «am g1 =nnfge?

® Rs.90 / 90 ®o

® Rs.89 / 89 o

® Rs.86 / 86 o

® Rs.91 / 91 Fo
Correct Answer :-Rs.90 / 90 %o
20)
Question Stimulus :-

When electric current is passed through salt water, the formation of gas bubbles at the electrodes is due to / SId

figad YRT waur oie @ Wared gt 8, 99 A F gage ST Saecis W 1 6 IR a1 82
® boiling / TU
® evaporation / ATSI
® chemical reaction / INITAT® SrfHfsaT
® nuclear reaction / ATTH®I Sfufmar
Correct Answer :-chemical reaction / ITA{=® SffUfepar

21)
Question Stimulus :-

Which among the following is not a criterion for congruence of 2 triangles? / g d Cac kel 1 [ (ﬁRTF[)

Pyt 9t Jafwraar o1 ards T8 82
* Side — Angle - Side / YGIT — YU — YeIT
® Angle - Side - Angle / BIUT = YT — HIT
e Side - Side —Side / YSIT — YGIT — YT
® Angle - Angle — Angle / BIUT - BIUT — I
Correct Answer :-Angle — Angle — Angle / 10T - BIUT — HI0T

22)

(38)



Question Stimulus :-

After a heavy Rain, the water does not stagnate in the forest. Give Reason / U ad & diq ot a1 & e Hﬁ
dedl | IR ddistl

® The floor may be slopy/HﬁT ;] aﬁil'g E-ﬁ Hhdl %I
® \Water evaporate fast in forest / d+1 o WA T 9T dig @_clT %l

Animals drink them immediately / U] 39 W é)f W dad %'l

® Rain water drips from the trees and seeps into the ground /aﬁ DI old q&ﬁ ¥ TuHdl % 3R 'ﬁ[&f # frgar
gl

Correct Answer :-Rain water drips from the trees and seeps into the ground /il'ﬁf CaRs [N q&ﬁ ¥ cuFHdr %

3R yfr o femar 21

23)
Question Stimulus :-
The value of y3 x y7 + (y?)%is Jy2 x y? = (y2)* &1 gl

‘yz

¢y
o

y

Correct Answer :-y?

24)
Question Stimulus :-

The maximum and minimum temperature displayed in the weather bulletin refer to the / Haq gﬁﬁ:‘—r i fe@rar

S aren Srfpad SR gAaH areHTT YRId BT @ -

® Highest day temperature and the lowest night temperature / ﬁﬁ' &1 SMfUHTH aTUH= T4 Id BT g-AdH
GILEIE!

® Highest day temperature and the highest night temperature / ﬁ? P SATUBTH ATIAT QT:T M BT
Sfpad argaT=

® Temperature recorded at 12 noon and at midnight 00.00 hrs / a'q_ﬁﬂ 12 99 3R ARIY 00.00 99 aﬁf
AdTgHT

® Average highest temperature of the day and average lowest temperature of the night / ﬁT'T DI Gﬁ'\‘l’d
(39)



SfFaH AU TS I BT 3RTd AaH g
Cgrrect Answer :-Highest day temperature and the lowest night temperature / f&q o1 srftrmaw aruwTT
Qg Id pI YAdH dIaATd
25)
Question Stimulus :-

Directions for the following five questions: Study the graph below and answer the
questions. (Consider approximate values for answers) / T3 R 13 IR ysi ¥ forg Ay = faw
T ATE BT AT B3 R U T IW S (SN & e srgaa gedl R fmR #%)

Percentage Of villages in the States with proper
water supply

45
40

33

30

20
13

NP T
CNOONOMOOND

Percentage

| NN N S A N N TN - |

States

If the central government decides to give aid for speedy water supply starting from states with least water supply

which state will get 5t rank in order of priority?/qﬁwww W{ﬁﬁﬁ%ﬁiﬁmmw
o1 g ddt @ 9O T8 9 Fa Syfe are ISl A IR FRe [ HT 3T B wAfirear & w9 sdaf goft

& ety

Correct Answer :-T

26)
Question Stimulus :-

Directions for the following five questions: Study the graph below and answer the
questions. (Consider approximate values for answers) / 4 3T 13 IR sl & forw fRdw R faw
T ATH BT AT B 3R T BT IW S| (I & T gatea gedi R fmR &%)
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Percentage Of villages in the States with proper
water supply

45
40

35

30

20
15

AR IO L T
o [ Lo [l e 3 [ o [ ol
1 11 1 1 L 1 1 L ]

Percentage

States

Which state has one third % of villages with water supply in comparison to state ‘S’? / IToY ‘S’ @t LGEL A fora It

& T farers witdl & srer syl g% &
¢ P
« U
. Q
e R
Correct Answer :-R
27)

Question Stimulus :-

?r.,-'fi_,'rx '.Tq,-'fi_/x )
If is a whole number then x = / afeg TP QUi e g dl x =

245

~490

{1225

17

Ly

(41)



Correct Answer :-

28)
Question Stimulus :-

A camel can walk very easily in deserts because / T He I o ggd 3T A I Fopdl % e

® |ts feet are pointed / S(—Iah W "I\IOhC.N —&ﬁﬁ %

® |ts feet are flat &have large area / 3'\"1% W gue Qa m ?33[ iﬁ% tﬁ?r %
® Its body is heavier / SHPI IR SIfw U E?l_cﬂ %

® |ts feet have small area / sﬂﬁ? a?)f % &.‘]’JT 'tﬁ% Eﬁ% %
Correct Answer :-lts feet are flat &have large area / ?{\"ﬁ? TR IUe Td 3'\‘!%? e ?ﬁ% F.ﬁf %

29)
Question Stimulus :-

Directions for the following five questions: Study the graph below and answer the
questions. (Consider approximate values for answers) / BIC] feu T IR U4 & S EERUGIE] feu
T ITH BT AT B3 R U FTIW S| (S & e gwa gedl R fmR #%)

Percentage Of villages in the States with proper
water supply

45
40

35

30

20
15

Y L | LTS TSN W W 5
OO NN N

Percentage

States

Central budget for water supply is fixed at two Crores Rupees per village. If total number of villages existing in states
‘Q’ and ‘S’ are in the ratio 5:8, then find the ratio of budget of water supply in states ‘Q’ and ‘S’? / ST arrqﬁf & ﬁl’Q’
FEIT gole, mm%mammwﬁmmwau gfe Il @ 3R ‘s & 7Tl B pa
HEAT BT 3UTd 5/8 €, @) I} ‘@ 3R ¢’ A oIet 3Myfef & aoTe &1 Srgura fHeral?

° 5/12

e 12/5

(42)



* 2/3

° 5/8
Correct Answer :-5/12
30)

Question Stimulus :-

Directions for the following five questions: Study the graph below and answer the
questions. (Consider approximate values for answers) / 4 3T 70 IR usi & forw Rdw 1 fau
T ATH T AT B 3R T FTIW S| (I & e agara gedi R fmR &%)

Percentage Of villages in the States with proper
water supply

45
40

33
30

20
15

Percentage

Y | N TR TS N NS
CONOMONONOoUNs

States

Which state has twice the % of villages with water supply in comparison to state ‘R’? / fog TS # R IS FY

qaT ® ot Smufel Ured A arel TGl P U= ST 82
e P
°Q
e« R
.S

Correct Answer :-Q
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